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«my_module.py»

In [1]: a = 3 #ATpubyt mopyns
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In [1]: import my_module #UHcTpykums, uenmkom 3arpyxawuas MoayJib

In [2]: print(my_module.a)

3
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NP CROCTABI NIOLEXE
In [3]: b = my_module.a**2 NOCTYRN Ik ATPHGCY TAM
Tre [41% pritik(b) OG'HCKTOB (moRyNek,

9 GCHGIEMOTCIK M T.IL.)
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In [1]: import my_module as mm #KomaHpga co3parHusi NceBAOHUMA AN UMEHU MOAYJIS
In [2]: print(mm.a)
3

In [3]: print(mm.a/(1 - mm.a**3))
-0.11538461538461539
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In [1]: from my_module import a #MHCTpykumusi, konupywuas atpubyTsl MOAY/S
In [2]: print(Ca)
3
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HECTPRYIIIMS F1rOoMm *

«my_module.py»

In [1]: a = 3

In:[2]: b = 55 H#ATpUbYTH MOAYNS
In: [3]: € = 1

In [1]: from my_module import * #UHCTpykumsi, konupywouasi Bce arpnbyTsl MOAY/S
In [2]: print(a*b - ¢)
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«my_module.py»

In [1]: earth_mass = 5.94*10**24

In [2]: gravity_constant = 6.67*10**(-11)
In [3]: your_mam_mass = 100000**1000000

In [1]: from my_module import grvity_constant as G
In [2]: g = 500*G/10*2

In [3]: print(g)
6.6699999999999995e-09
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«my_module 1.py»

In [1]: a = 10

«my _module 2.py»

In [1]: a.=5

In [1]: from my_module_1 import a

In [2]: from my_module_2 import a
In [3]: print(a)




In [4]: import my_module_1
In [5]: import my_module_2

In [6]: print(my_module_1l.a * my_module_2.a)
50
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Spyder

v 333

Scientific PYthon Development
EnviRonment. Powerful Python IDE with
advanced editing, interactive testing,
debugging and introspection features

Launch
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In [1]: from math import sin, tan, sqrt, pi
In [2]: sin(
Signature: sin(x, /)

Docstring: Return the sine of x (measured in radians).
Type: builtin_function_or_method

In [2]: sin(2*pi)
-2.4492935982947064e-16

In [3]: sin(pi)
1.2246467991473532e-16

In [4]: sqrt(3**2 - 5*sin(pi/2))
2.0

In [5]: sin(pi/2)
1.0
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HERPY - CEGIANOTCEN € OTIKPEITEIM
HMECRXORHEBIM IROXOM JJIXNR MIEBIIKA
RHPOrPAMMRPOBAHNIE PYUCHON, €
BOSMOMIHOCTRMM IMORAXCIHILIEM
MHOrOMCPHEIX MACCHBOB (BIXJXIO A

EH numpy / numpy Sponsor ~ (PUsedby~ 261k @©Watchv 472 K Star 12k ¥Fork 3.9k

Code ) Issues 1,719 Pull requests 213 O Actions M| Projects 3 EE Wiki ) Security il Insights

The fundamental package for scientific computing with Python. https://www.numpy.org/

numpy python

21,511 commits 19 branches 159 releases 831 contributors BSD-3-Clause
1

Branch: master v New pull request Create new file  Upload files  Find file Clone or download v

seberg Merge pull request #14725 from WarrenWeckesser/boolsubnotsupported .- Latest commit 1185880 20 hours ago

B .circleci Merge pull request #14356 from qwhelan/sphinx

8 .dependabot MAINT: Add "MAINT" tag to dependabot commit msg

B .github fixes links in '/.github/CONTRIBUTING.md'

B8 benchmarks BENCH: adding benchmarks for avx based ufuncs

] icons add .gitattributes and fix line endings

il doc Merge pull request #14721 from seberg/move-news-fragment-to-correct-path
B8 numpy MAINT: umath: Change error message for unsupported bool subtraction.

B tools Merge pull request #14368 from jdufresne/byteswarning
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In [1]: import numpy as np
In [2]: a = [1,2,4]

In [3]: b = np.array(a) #KomaHaa co3pauus maccmBoB u3 crnimckos Python

In [4]: print(type(a))
<class 'list'>

In [5]: print(type(b))
<class '"numpy.ndarray'>
In [6]: print(b*b)

[1 4 16]

In [7]: print(b/b)

[1. 1. 1.]

In [8]: print(b - b)
[0 0 0]

In [9]: print(a/a)

TypeError
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Traceback (most recent call last)



In [10]: A = np.zeros((2, 3))
In [11]: printCA)

[[0. 0. 0.]
[0. 0. 0.]]

In [12]: A[0Q, 2] =5
In [13]: printCA)

[[0. @. 5.]
[0. 0. 0.]]

In [14]: B = np.ones((3, 2))
In [15]: print(B)
[[1. 1.]

[1. 1]
[1. 1.7]

In [16]: A = np.ndarray(shape=(2, 3))
In [17]: print(A)
[[0. 0. 0.]

[0. 0. 0.]]




In [18]: A = np.arange(0, 10, 1)
In [19]: print(A)

01234567 89]

In [20]: B = np.arange(?, 5, 0.5)

In [21]: print(B)

[6. 0.51. 1.52. 2.53. 3.54. 4.5]

In [22]: print(A[-1])

9

In [23]: print(lenCA)) #Onepatop onpeaeneHns ANMHbI MAcCCMBA/CriMcKa

10
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np.arange(start, stop, step)

#start #stop
I I I
1 ! >
/
#step
np.linspace(start, stop, num)

#start #stop
I I I I I I I I I
T T T T T T 1 >
\ J

Y
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In [24]: A = np.linspace(?, 10, 10)

In [25]: print(A)

[ 0. 1.11111111 2.22222222 3.33333333 4.44444444 5.55555556
6.666600667 7.77777778 8.88888889 10. ]
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In [26]: A = np.array([[1, 2, 31, [4, 5, 611
In [27]: printCA[1, :1)

[4 5 6]

In [28]: printCA[:, 11)

[2 5]

In [29]: B = A[:, ::-1]

In [30]: print('A', A)

A [[1 2 3]
[4 5 6]]

In [31]: print('B', B)

B [[3 2 1]
[6 5 4]]

In [32] printCA[:, 1)

[[1 2 3]
[4 5 6]]
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